wwjdwuwghp Yupkint npnodwt dwupu wnbnGlwunyniegniup’

<U3sururnre3nru
wwjdwuwghp Yupbnt npnadw dwuht
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Uwhwnwy hwdwjupp unnple ubpyuywgund £ hp Ywpppubph hwdwp Yeunpnuwgwd Ywpgny uttnwdpbpph

Gtinpptipdwu bywwwyny Yuqiwybpyyws <L LUUL-FKUNAR-21/16 dwdlwagpny quiwl pupwgwlwngh wpryntupnid

Suwhwwnn hwuduwdnnnyh 2021 pqwlwuh ognuwnnuh 06-h phy 2 npnadwdp hwunwnyb) Gu pupwgwywngh

pninp Jwulwyhgubiph Ynnihg ubplujugdws hwyinbiph’ hpwybiph wwhwusubpht hwdwwwwnwufuwunipjwu guwhwwndwu

wnryntupubipp: <wdwdjwu npp’

Quithwpwdhu 1:

Yudwu wnwplw b hwunhuwunw' unwdp:

<pwybpp wwhwugubtphu <pwybpp wwhwugubphu
Uwutwygh hwlwwywwnwufuwunn shwdwwywunwufuwunn Uthwdwywinwufuwbnie)wl
/< wujwundp hwjwntp hwjwntp hwdwnnun Uwpwgpnypnil
/hwdwwwwnwufuwubnt /shwdwwwwnwufuwubint nLugnnye
nbwpnud uphi| “X”/ nbwpnud ugki| “X”/
; U/2 Uhtip X
Lwjpwuybiinjw
Lunpud
Uwutwlygh
UwulwlhgLtinh Uwutwlgh Uuwubiuyhg wnwewnpywsd ght
qpwnbgnpwd /punpquid
wujwunwdip /wnwug ULL, hwg.
wbintpp dwutiwygh hwdwnp wy/
Uzbl “X)Y/ rl'n
1 W/a Uhtip <wjpwwbuywu 185 500
Cunpqwsd Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Quithwpwdhu N 2:
Yudwu wnwplyw § hwunhuwund' Yupunndhg:
<pwytiph wwhwugubpphtu | <pwybph ywhwuoubphu
Uwutwlygh hwiwwywwnwufuwunn shwdwwywunwufuwunn Uthwdwywinwuiwbnip)ul
/< wuyjwunwip hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnype!
nbwpnud ugk) “X”/ nbwpnud uok “X”/
; U/a Uhtip X
Lwjpwwbiinjwu
Uwutwlygh
qpml? 3[‘ wujwundip s hwndw oh “X”/g /wnwug ULL, hwg.
napp n b24] nnwd/
1 U/Q Uhbip <wjpuiwbingwu X 420 000
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 3:
Qudwt wnwplw b hwunhuwunad' ququn:
<pwybpph wwhwugutiphtu | <pwybph ywhwug9ubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuuwbnie)wl
/< wujwundp hwjwntp hwjwnbip hwdwnnin twpwgpnypnty
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt ngnnye!
nbwpnu bk “X”/ nbwpnud uok “X”/
) U/a Uhbip X
Lwjpwubitnjwu




Uwutwyhgubph
qruwntigpws

wnbnbipp

Uwutuwygh
wujwunwip

Lunpywd dwuwyhg
/punpqwd dwutiwygh
hwdwnp ugb| “X”/

Uwutiwygh
wnwowpywsd ghu
/wnwug UL, hwg.
npwd/

1

W/ Uhtip <wjpuiwbunjwu

X

54 000

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 4:

Yudwt wnwplw b hwunhuwund' pwagnty:

<pwybpp wwhwugutipht | <pwybph ywhwuubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwiwywinwufuwbnipjut
</< wujwunip hwjnbp hwyntp huiwnnin UwpwgpRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnype!
nbwpnid uoky “X”/ nbwpnd uok “X”/
; U/a Uhtip X
Lwjpwwbiinjw
Uwutwygh
qpml? é"‘ wuywunwip s hw”dw e /9 Jwnwlg U<Z, hugq.
nupp n u2a) nnw/
1 U/Q Uhbip <wjpuiwbiunywu X 41 850
Cunpqwsd Jwutuwlghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwsd hwin b quwihtu wnwowpl:
Qwthwpwdhu N 5:
Yudwu wnwplyw § hwunhuwund' fuudnp:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwlygh hwiwwywwnwufuwunn shwdwwywunwufuwunn Uthwdwywinwuiwbnip)ul
/< wuyjwundp hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubiint nugnnype!
nbwpnud ugk) “X”/ nbwpnud uok “X”/
; U/a Uhtip X
Lwjpwwbiinjwu
Uwutwygh
qpml? l?n wuyjwunwip n hwndw ok “X”/g /wnwug ULL, hwg.
nupp n u2a] nnwd/
1 U/Q Uhtip <wjpwiwytinjw X 15750
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 6:
Yudwu wnwplw £ hwunhuwund' ywhwénjugywd ninn:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Ubhwiwywnwufuwbnipjut
/< wuyjwundip hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnye!
nbwpnud ugk) “X”/ nbwpnud uoki| “X”/
] U/a Uhtip X
Lwjpwwbitywu




Uwutiw
Uwutwlhgubph Uwubwlgh Cunpyws dwutiwlyhg wanwnulﬂgzhn
qpuinbignwd wujwundp /nunnyud duutiulgh /wnwug UL, hwgq
wnbknbkpp hwdwp ugb “X”/ r}pwd/, ’
1 U/Q Uhtip <wjpuiwybinwu X 100 750

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 7:

Qudwu wnwplw b hwunhuwunw' nwpnbin/phpwp/:

<pwybpp wwhwugutipht | <pwybph ywhwuubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Ubhwiwywinwufuwbnipjut
</< wujwunip hwjnbp hwyntp huidwnnin UwpwgpRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnype!
nbwpnid uoky “X”/ nbwpnd uok “X”/
1 U/ Uhtip X
Lwjpwwbiinjw
Cunpwd
dwutiwyhg
Uwu:‘wll:hgll:jl;nh Uwutwlgh /jpunpywd | Uwubwlgh wnwewplwd ght
qpmél é"' wuywunwip Jwutwlgh /wnwlg U<Z, hwq. npwd/
nno hwdwp ugb|
(&X"/
U/a Uhtip
1 Cupuiugbinjuil X 22 000
Cunpywd Jwutwyght npngbint hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:
Quithwpwdhu N 8:
Qudwu wnwplw b hwunhuwunw' Jupniug:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwidwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwufuwbnie)wl
/< wuyjwundp hwjunbkp hwjunbip hwdwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nlugnnye
nbwpnud ugk “X”/ nbwpnud uoki| “X”/
1 U/ Uhtip X
Lwjpwwybiinjw
Cunpjwd
dwutiwyhg
U“’“Z“‘L‘hgzlg'h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
QPml;l 3[‘ wujwundip dwutiwygh /wnwug ULL, hwq. npwd/
o hwdwp Uk
uxn/
u/a Uhtip
1 Cupugbniuy X 64 750
Cunpqwsd Jwuuwlyghtu npnobne hwdwp Yhpwndwd swihwuhs' pwdwpwp guwhwndwd hwin b quwihtu wnwowpl:
Quithwpwdhu N 9:
Fudwu wnwplw & hwunhuwunud® nhy:
<pwytiph wwhwugubphtu | <pwybph ywhwuoubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnip)ul
/< wujwundp hwjwntp hwjwnbip hwdwnnun Uwpwgpnypnil
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnye!
nbwpnu bk “X”/ nbwpnud uok “X”/
1 U/Q Uhtip
Lwjpwwbinjwt




Lunpwd
dwutiwyhg
quuhulll:hgbl;nh Uwutiwygh /punpqwd Uwutiwygh wnwowpywsé ghu
QFWI;I é]l““ wuywunuip dwutwlgh /wnwug ULL, hwq. npud/
wnunbpp hwdwp Ut
(AX!Y/
W/Q Uhbip
1 Lwjpwwbitnjwu X 42550

Cunpywd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 10:

SYudwu wnwpYw £ hwunpuwunwd® dwphtwgywsd Jupniug:

<pwybpp wwhwugutipht | <pwybiph ywhwugubphu
Uwutwygh hwlwwywwnwufuwunn shwdwwwunwufuwunn Uthwdwywinwufuwbniejwl
/< wujwundp hwjwntp hwjnbip hwdwnnun twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubnt
nbwpnud ugki “X”/ nbwpnud ugki| “X”/
1 W/a Uhbip X
Lwjpwwbnjw
Cunpjwd
dwutwyhg
UwutwlhgLtinh Uwutwlygh /punpqwd Uwutwygh wnwowpywd ghu
qruntgpwd J J
bnb wuyjwunwip dwutiwygh fwnwug ULL, hwq. npwd/
nunung hwdwp Uk
uxn/
U/ Uhtip
1 Cupuigbnju X 13 000
Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwnp guwhwndwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 11:
Qudwu wnwplw b hwunhuwunw' Juubhu:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwdwywinwuiwbnie)ul
/< wuyjwundip hwjunbkp hwjunbip hwidwnnin UwpwgpRypEnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint
nbwpnu ugk “X”/ nbwpnud uok “X”/
1 W/a Uhtip X
Lwjpwwbinjw
Cunpjwd
dwutiwyhg
U“‘“““‘L‘hgt";"h Uwutwlgh /punpywd | Uwubwlgh wnwewplwd ghl
qul;l 3[““ wujwundip dwutiwygh /wnwug ULL, hwq. npwd/
nhnung hwdwp Uk
uxn/
W/a Uhtip
1 Lwjpwwbinjwu X 3000




Cunpywd Jwutwlght npngbint hwdwp Yphpwndwsd swihwuhs' pwdwpwp guwhwnydws hwyn b quwiht wnwowny:

Quithwpwdhu N 12:

Yudwu wnwplyw § hwunhuwund' nbing:

<pwytiph wwhwugubphtu | <pwybph ywhwuoutiphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwuywinwufuwbnipjut
/< wujwunip hwjwintp hwjwnbp hwdwnnun Uwpwgpnypnil
/hwdwwwwnwufuwubnt /shwdiwwwnwuluwubnt ngnnye!
nbwpnud ugh “X”/ nGwpnu ugk| “X”/
1 W/a Uhtip X
Lwjpwubinjwt
Lunpwd
dwutiwyhg
Uulu:‘ulghgll:‘l;nh Uwutiwygh /punpqwd Uwutiwlygh wnwowpywsé ghu
qpml? é"‘ wuywunwip Jwutwlgh /wnwlg U<Z, hwq. npwd/
nro hwdwp Uk
uxn/
U/ Uhtip
1 Cupuigbinjui X 33750
Cuwnpqws Jwuuwlghtu npnobine hwdwp Yhpwndwd swihwuh' pwdwpwp guwhwndwsd hwyn b quuwiht wnwowpl
Quithwpwdhtu N 13:
Yudwu wnwplyw § hwunhuwund' uwnp:
<pwytiph wwhwugubphtu | <pwybph ywhwuoutphu
Uwutwlygh hwiwwywwnwufuwunn shwldwywunwufuwunn Uthwidwywinwuiwbnip)ul
/< wuyjwunwip hwjunbip hwjunbip hwdwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnype!
nbwpnud ugk) “X”/ nbwpnud uok “X”/
; U/a Uhtip <
Lwjpwwbiinjwu
Cunpjwd
dwutwyhg
Uwuhwll:hgbl;nh Uwutiwygh /punpywd Uwutwlygh wnwowpywsé ghu
QP:I;I 3’““ wuywunwip dwutwlgh /wnwlg US<, hwq. npwd/
nro hwdwp ugk|
uxn/
1 U/ Uhtip <wjpwiwbujwu X 22 000
Cunpywd Jwutwyght npnatint hwdwp Yphpwndwd swihwuhs' pwdwpwp guwhwnydwsd hwyn b quwiht wnweowny:
Quithwpwdhu N 14:
Yudwu wnwplw § hwunhuwunad' wuws nph:
<pwybpp wwhwugutiphtu | <pwybph ywhwu9ubphu
Uwutwygh hwiwwywwnwufuwunn shwdwwwunwufuwunn Ubhwiwywnwufuwbnipjut
/< wuyjwundip hwjunbkp hwjunbip hwidwnnin twpwgpnypnt
/hwdwwwwnwufuwubnt /shwdwwwunwufuwubint nugnnye!
nbwpnud ugk) “X”/ nbwpnud uoki| “X”/
] U/a Uhtip X
Lwjpwybitnjwu




Cunpjwd

dwutwyhg
Uwuhwll:hg‘ulgnh Uwutwygh /punpywd Uwutwlygh wnwowpywsé ghu
qul;l é]l““ wuyjwunwip dwutiwygh fwnwug ULL, hwq. npwd/
mhnung hwdwp ugb|
“X’/

U/a Uhtip <wjpwwbunjwu

23 400

Cunpwd Jwutwyght npngbnt hwdwp Yphpwndwd swihwuhy' pwdwpwp guwhwndwsd hwyn b quwiht wnwowny:

Quithwpwdhu N 15:

Qudwt wnwplw b hwunhuwund® udpniy:

<pwybpp wwhwugutipht | <pwybph ywhwuubphu
Uwutwygh hwlwwwwwufuwunn shwiwwwunwufuwunn Ubhwiwywinwufuwbnipjut
/< wujwundip hwjwintp hwjwnbp hwdwnnun twpwgpnypnt
/hwdwwwwnwufuwubnt /[shwdwwwunwufuwubint
nbwpnud ugk “X”/ nGwpnu ugk “X”/
1 U/2 Uhtip X
Lwjpwuybiinjw
Cunpjwd
dwuliw
U“‘”““‘L"‘gm;"h Uwutwlgh /thnql:ltlf? Uwutwlgh wnwewnlws ghl
qul? é]l““ wujwunwdip dwutiwygh /wnwug ULL, hwq. npwd/
mhnung hwdwp Uk
“X7/
1 U/ Uhtip <wjpwwbuywu

6000

Cunpywd Jwutwyght npnobint hwdwp Yphpwndwd swihwuhs' pwdwpwnp guwhwndwsd hwyn b quwiht wnweowny:
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